Câu 1:  [1H1-3.2-1] (GK1 - K 11 - Strong - Năm 2021 - 2022 - Đề số 02) Trong mặt phẳng 
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Câu 2:  [1H1-3.2-1] (GK1 - K11 - Strong - Năm 2021 - 2022 - đề số 03) Trong mặt phẳng
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Câu 3:  [1H1-3.2-1] (GKI - K11 - STRONG - Năm 2021 - 2022) Trong mặt phẳng tọa độ 
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Câu 4:  [1H1-3.2-1] (GKI - K11 - STRONG - Năm 2021 - 2022) Trong mặt phẳng 
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Câu 5:  [1H1-3.2-1] (GKI - K11 - STRONG - Năm 2021 - 2022) Trong mặt phẳng tọa độ 
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Câu 6:  [1H1-3.2-1] (GK1 - K11 - THPT Cẩm Giàng - năm 2021 - 2022) Trong mặt phẳng tọa độ 
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Câu 7:  [1H1-3.2-1] (GK1-K11-THPT Gia Lộc - Năm 2021-2022) Trong mặt phẳng tọa độ 
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